3agaHue 1
~

. T
Haiinute 3Hauenue Boipaxenust 3v/3 cos s cos 7.

Pewierue.

3v3cos & Ecos71r =33 —\-/2——cos(67r +7) = é-cosn = f—g = —4.5.
Omsem: —4,5.

3agaHue 2

V

Haiinure 3HaueHue BbipaXkeHHs —5v/3 cos(—390°).
Pewenue.

~5v/3cos(—390°) = -5 3cos(390°) = —5v/3cos(360° + 30°) =
= —5v/3¢c0s30° = —5/3 - [ = —2— = —7,9.

Omesem: —17.5.



3apaHue 3

V

Haiinure 3Hauenue Boipaxkenus 41/3 tg(—750°).

Pewenue.
4v/3tg(—750°) = —41/3 tg(750°) = —4/3tg(720° + 30°) =

15 s B s e s
= —4/3tg30° = —4/3 7= 4.
Omeem: —A4.
3apaHue 4
gl . o
Hahaute 3HayeHHe BbipaXkeHUs 28 §1n316 .
sin 44°
PeweHnue.
28sin316° _ 28sin(360° — 44°) _ 28sin(—44°) _
sin44° sin 44° "~ sindd®
28 sin 44°
= " emar %

Omeem: —28.



3apaHue 5
V

Haiinure 3HaueHHe BuIpaXkeHHs 10
sm(—- 297r) cos 897
4 4
Pewerue.
16 _ 16 _
: ._.2.&[) 65m in 297 oo 69T
sm( 4 COS % Sin A COS 4
: m s
sm(71r i 4) cos(161r + 4)
=—— 10 10 _j6:i1-16.2=22
—sinZLcos X v2 V2 2
4 4 2 ’ 5

Omeem: 32.



